27631-01 Aok | wiBsh A |, FNEL , F& | DIN ISO 12240-1 &

45

7= Gk e

M

R (D) 6-12 Z1EINEHIFTH , BR (D) 17 BN ARNBET
=,

KB, TE. XM BEERL IR A IR BN AW IR ET
BN PTFE SRR 3 AR HI H B o

K
e
BR:
T RSB HMAREY ., EFERIXIMN DIN 648 FEREK I E,

K L
D
— _Q. |
Lt
S — N— — I =
\ L)
L1
.
@ |_ 1
A
L2 B

27631-01-06 BHEIR | ZE0HIN | 36 |21 6 M6x1,0 6|44 10 |18 |12| 46,5 13 3,6 8,15
27631-01-08 EHEtR | ZE0HIN | 42 (24| 8 M8x1,25 8 6 13 |22 |14 54 15 5,85 12,9
27631-01-10 GHEIRE | ZY0HIM | 48 | 29|10 M10x1,5 9 7 16 26|15 625 12 8,65 17,6
27631-01-12 HIEIRY | BUHIN | 54 |34 12 M12x1,75 10| 8 18 |28 |18 71 11 1,4 24,5
27631-01-17 Py AR 69 |46 |17 M16x2,0 14| 1 25 |36|23 92 10 22,4 45
27631-01-20 AHEIRLL FETAE: 78 | 53|20 M20x1,5 16| 13 29 43|27 | 104,5 9 31,5 60
27631-01-25 AREIRLL RN 94 (64|25 M24x2,0 20| 17 | 355 |53|32 126 7 51 83
27631-01-30 AHEIRL g 110 | 73|30 M30x2,0 221 19 | 40,7 |65|37| 146,55 6 66,5 110
27631-01-061 HEIRL | BTN | 36 [21] 6 M6x1,0 6|44 10 18 112 46,5 13 3,6 8,15
27631-01-081 EREIRL | BTN | 42 |24 8 M8x1,25 8 6 13 |22 |14 54 15 5,85 12,9
27631-01-101 EREIRE | ZE0EI8 | 48 [29] 10 M10x1,5 9 7 16 |26|15| 625 12 8,65 17,6
27631-01-121 LRt | BYIHI | 54 (3412 M12x1,75 10| 8 18 |28 |18 71 11 1,4 24,5
27631-01-171 A REIRLL pETAE ] 69 |46 |17 M16x2,0 14| 1 25 |36|23 92 10 22,4 45
27631-01-201 AHEIRLL RN 78 53|20 M20x1,5 16| 13 29 |43 (27| 104,5 9 31,5 60
27631-01-251 A REIRLL RN 94 | 64|25 M24x2,0 20| 17 | 355 |53|32 126 7 51 83
27631-01-301 EREIRE VElAg: 110 | 73| 30 M30x2,0 221 19 | 40,7 |65|37| 146,55 6 66,5 110

© norelem www.norelem.com



27631-01 Aok | wiBsh A |, FNEL , F& | DIN ISO 12240-1 &

45

© norelem www.norelem.com



